75" Eigenvector
1
Ne = 3 s = 5

Irred. Representation : T'y

1
Eps = 3 (—J + 3t 42U + 14W — 2cos (64) v/ A5)
11
|\II75> = |37§7§7F4,2>
= Cr51 (|002u) — |00u2) + [020u) — [0u02) — [20u0) — |2u00) + |1020) + [u200))
+  C75.2 (]02u0) + |0u20) — [200u) — |u002))
+  C75,3 (|0duu) — |Oudu) + |dOuu) + |dulu) — |uOud) + |udu0) — |uudd) — |uud0))
o _ _t(J—4t+U—2W+2cos(94)\/A5)
-1 — 2\/5
o  t(J4 12t + U — 2W 4 2cos (04) v/ As)
75—-2 — 3\/5
15t + 5Ut + U? — J(t + 2U + 8W)
Crs-3 =
6v2
N (-Afg + 6W (—4J + 13t + 10U + 32W) — 6(t + 2U + 8W') cos (64) \/A5>
18v/2

Nzs = 2\/20725,1 +C% 5 +2C%; 5



